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R1 = (0.9 - 0.8)x 10K/0.8 = 1.25K
Vo = [1K,1.5K] x 0.8 / 10K + 0.8 = [0.88,0.95] V

R1 = 1.5K

R2 = 10K

R1 = 56K

R2 = 10K

R1 = 5.1K

R2 = 10K

R1 = 10K

R2 = 3K

R1 = (5 - 0.8)x 10K/0.8 = 52.5K
Vo = [47K,56K] x 0.8 / 10K + 0.8 = [4.56,5.3] V

R1 = (3.3 - 0.8)x 10K/0.8 = 31.25K
Vo = 10K x 0.8 / 3K + 0.8 = 3.46 V

R1 = (1.2 - 0.8)x 10K/0.8 = 5K
Vo = [4.3K,5.1K] x 0.8 / 10K + 0.8 = [1.14,1.21]  V
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R = 360R

C = 0.1uF

R = 360R

C = 0.1uF

R = 110K

C = 0.01uF

R = 2.4K

C = 0.1uF C = 0.01uF

R = 110K
MEASURED: 1.2V, 20mV RIPPLE

MEASURED: 5.3V, 100mV RIPPLE

MEASURED: 0.92V, 20mV RIPPLE

C = 0.01uF

MEASURED: 3.46V, 30mV RIPPLE

R = 360R

C = 0.1uF C = 0.01uF

R = 47K FOR 1MHz


